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water into the atmosphere as shown in Fig. P5.50. When the
discharge is 0.1 m*/s, the gage pressure at the flange is 40 kPa.
Determine the vertical component of the anchoring force re-
quired to hold the nozzle in place. The nozzle has a weight of
200 N, and the volume of water in the nozzle is 0.012 m?. Is
the anchoring force directed upward or downward?

A nozzle is attached to a vertical pipe and discharges

B FIGURE P5.50

The amlys'is /Catﬁn:y to the solufion of fhis problem
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(con't)

Also we rof Yhaf U = &,
A,
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